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INCOME TAX LAW–I

Paper–305

Semester–III

Time Allowed : 3 Hours] [Maximum Marks : 70

Note : The candidates are required to attempt two

questions each from Sections A and B carrying

10 marks each and the entire Section C

consisting of 10 short answer type questions

carrying 3 marks each.

SECTION—A

1. Is previous year always a 12 months period ? State

any three instances where income of a previous

year is assessed in the previous year itself. 10

TCS

2. State the differences between Capital loss and

Revenue loss. 10

3. The following are the particulars of Income of Sham

for the Current Financial Year : 10

(i) Basic Salary : `1,25,000 p.m.

(ii) Dearness Allowance (forming part of Salary) :

12% of Basic salary.

(iii) Transport allowance : `2,000 p.m.

(iv) He was given a Chauffes Driven Car (1900

cc) for private and official use. All expenses

of running and maintenance (excluding

driver’s salary) were paid by the employer.

(v) He contributes 15% of his salary to

recognised Provident fund account to which

his employer also made the matching

contribution.
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(vi) Interest @ 13 p.a. amounting to `65,000 had

been credited to his foresaid recognised

Provident fund account during the previous

year.

(vii) Mediclaim insurance premium (for policy

taken on the life of Mrs. Sham parents who

are resident in India): `45,000. Compute the

total income and tax liability of Mr. Sham

for the current assessment year.

4. Sukhdev has one house in Delhi. He stays with

his family in the house. The rent of similar property

in the neighbourhood is `25,000 p.m. The

municipal valuation is `23,000 p.m. Municipal taxes

paid is `8,000. The house construction began on

1-2-2013 with a loan of `20,00,000 taken from a

bank @ 10% p.a. on the same date. The construction

was completed on 30-11-2015. During the previous

year, he paid `50,000 as principal on 31st March

apart from interest.

Compute his income from house property for the

current assessment year. 10

SECTION—B

5. Give advise to Mr. Sewak an Assessee whether

his following expenses are allowed or not (give

reasons also) : 10

(i) Penalty paid to Customs authority for

importing prohibited goods which yielded a

large margin of profits.

(ii) Govt. of erecting Medical annexe to the factory

for emergency treatment of employees.

(iii) Lump-sum consideration paid for acquiring

know-how `3,40,000.

(iv) Travelling expenses of a director who went

to America for negotiating the purchase of a

new heavy machinery which was eventually

installed during the year.
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6. Mr. Kishore sells his only Residential house in

Pune on 24-8-2019 for `15,00,000 and incurs an

expenditure of `50,000 in connection with his

transfer. He had purchased this house in June,

1998 for `1,90,000 and on 1-4-2001, the fair market

value of his house was `4,00,000. On 11-1-2020,

he purchased a residential house in Delhi for

`8,00,000 and deposited `2,00,000 in the Capital

Gain deposit account scheme. The cost inflation

index for 2001-02 is 100 and for 2019-20 is 289.

Compute the taxable capital gains in the hands of

Kishore for the Current Assessment Year. 10

7. Which is money received without consideration

treated as income under the Income Tax Act ?

Also state the cases in which such provisions are

inapplicable. 10

8. Explain the provision relating to set off and carry

forward of Speculative Business losses and Non-

Speculative Business losses. 10

SECTION—C

9. Answer any ten of the following : 10×3=30

(i) Income from house property is `5,00,000

and income from capital gains is `2,30,000

for the assessment year 2020-21. Income

from house property for assessment years

2021-22 is `3,50,000.

Compute the total income for assessment

years 2020-21 and 2021-22.

(ii) X transferred a Commercial property on

6-5-2019 and earned a long-term capital

gain of  `22,00,000. He invested `18,00,000

from the sale proceeds of commercial

property in RFC bonds on 18-12-2019.

Whether he will get exemption u/s 54 FC

for this investment.

(iii) The employees working in the Cloth shop

of Hari has an informal staff association.

During the Previous year, the owner has
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contributed `20,000 towards the Staff

association of employees. Whether

contribution of ` 20,000 followed as

deduction while computing the income

under the head Profit and Gains of business

or profession. Why or why not.

(iv) Compute the tax liability for the current

assessment year for Ms. Deeksha, age 87

years and a resident individual whose total

income is `5,00,000.

(v) Ms. Khusboo retired from a Private job on

31-10-2019 and after retirement she has

started receiving pension of `35,000 per

month. On 1st Feb., 2020, she gets 80% of

the pension commuted for `16,00,000.

Commute her tax, taxable pension for the

current assessment year assuming that she

has not received any gratuity.

(vi) Mr. X took a loan of `15,00,000 from SBI

@15% p.a. on 1 June, 2015 for the construction

of his house. The contribution of this house

was completed on 1st January, 2019. Date

of repayment of loan is 1st October, 2019.

Compute the interest on capital borrowed

for construction of the house for the

assessment year 2020-21 assuming the house

is owned by him and is self-occupied during

the Financial Year 2019-20.

(vii) Indexed Cost.

(viii) Tax Free Securities.

(ix) Casual Income.

(x) Agriculture Income.

(xi) Incidence of Tax.

(xii) Exempted Income.



PUNJABI VERSION

n otn otn otn otn ot ::::: Bwg A Aqy B hryk ivcoN do-dodo-dodo-dodo-dodo-do pRSn kro Aqy

hryk pRSn dy 10 AMk hn[ Bwg C swrw kro[ ies

ivc 10 sMKyp au~qr vwly pRSn lwjmI hn Aqy

hryk pRSn dy 3 AMk hn[

BwgBwgBwgBwgBwg—A

1. kI ipClw swl hmySw 12 mhIny dI imAwd vwlw huMdw

hY? iqMn audwhrxW idE jdoN ipCly swl dI Awmdn

dw AMklx ipCly swl ivc hI hoieAw hovy[ 10

2. kYpItl hwnI Aqy rYvinaU hwnI ivc AMqr drj

kro[ 10

3. inmn-drj vyrivAW dw AiDAYn krky loVINdI

kwrvweI kro: 10

The following are the particulars of income of Sham

for the Current Financial Year : 10

(i) Basic Salary : `1,25,000 p.m.

(ii) Dearness Allowance (forming part of Salary) :

12% of basic salary.

(iii) Transport allowance : `2,000 p.m.

(iv) He was given a Chauffes Driven Car

(1900 cc) for private and official use. All

expenses of running and maintenance

(excluding driver’s salary) were paid by

the employer.

(v) He contributies 15% of his Salary to

recognised Provident fund account to which

his employer also made the matching

contribution.

(vi) Interest @ 13 p.a. amounting to `65,000

had been credited to his aforesaid

recognised Provident fund account during

the previous year.
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(vii) Mediclaim insurance premium (for policy

taken on the life of Mrs. Sham parents who

are resident in India): `45,000.

Compute the total income and tax liability

of Mr. Sham for the Current assessment year.

4. inmn-drj vyrvy pVH ky puCy gey pRSnW dw au~qr

ilKo: 10

Sukhdev has one house in Delhi. He stays with

his family in the house. The rent of similar property

in the neighbourhood in `25,000 p.m. The

municipal valuation in `23,000 p.m. Municipal

taxes paid is `8,000. The house construction began

on 1-2-2013 with a loan of `20,00,000 taken from

a bank @ 10% p.a. on the same date. The

construction was completed on 30-11-2015. During

the previous year, he paid `50,000 as principal on

31st March apart from interest.

Compute his Income from house property for the

Current assessment year.

BwgBwgBwgBwgBwg—B

5. inmn-drj vyrivAW dw AiDAYn krky loVINdI kwrvweI

kro: 10

Give advise to Mr. Sewak an assessee whether his

following expenses are allowed or not (give reasons

also) : 10

(i) Penalty paid to Customs authority for

importing prohibited) goods which yielded

a large margin of profits.

(ii) Govt. of erecting Medical annexe to the factory

for emergency treatment of employees.

(iii) Lump-sum consideration paid for acquiring

know-how `3,40,000.

(iv) Travelling expenses of a director who went

to America for negotiating the purchase of a

new heavy machinery which was eventually

installed during the year.
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6. inmn-drj vyrvy pVH ky puCy gey Anuswr kwrvweI

kro: 10

Mr. Kishore sells his only residential house in Pune

on 24-8-2019 for `55,00,000 and incurs an

expenditure of `50,000 in connection with his

transfer. He had purchased this house in June,

1998 for `1,90,000 and on 1-4-2001, the fair market

value of his house was `4,00,000. On 11-1-2020,

he purchased a residential house in Delhi for

`8,00,000 and deposited `2,00,000 in the Capital

Gain deposit account scheme. The cost inflation

index for 2001-02 is 100 and for 2019-20 is 289.

Compute the taxable Capital gains in the hands

of Kishore for the Current Assessment Year.

7. ienkm tYks ADIn ibnw pRqIPl dy pRwpq kIqI

geI rwSI nUM kdoN Awmdn mMinAw jWdw hY? auh

siQqIAW vI drj kro jdoN AijhIAW ivvsQwvW

lwgU nhIN huMdIAW? 10

8. aunHW ivvsQwvW dI crcw kro jdoN ieh spYkUlyitv

Aqy gYr-spYkUlyitv hwnIAW nUM sYt AwP Aqy kYrI

Pwrvrf leI lwgU huMdIAw hn[ 10

BwgBwgBwgBwgBwg—C

9. hyT iliKAW iv`coN iksy 10 'qy sMKyp not ilKo:

10×3=30

(i) Income from house property is `5,00,000

and income from capital gains is `2,30,000

for the assessment year 2020-21. Income

from house property for assessment years

2021-22 is `3,50,000.

Compute the total income for assessment

years 2020-21 and 2021-22.

(ii) X transferred a Commercial property on

6-5-2019 and earned a long-term capital

gain of  `22,00,000. He invested `18,00,000

from the sale proceeds of commercial
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property in RFC bonds on 18-12-2019.

Whether he will get exemption u/s 54 FC

for this investment.

(iii) hrI dI kpVy dI dukwn dy krmcwrIAW ny
gYr-rsmI sMG bxwieAw hoieAw hY, ijs nUM
ipCly swl mwlk ny `20,000 dw Xogdwn idqw
sI[ kI ies `20,000 dI rwSI nUM pRoiPt Aqy
gynz dI md ADIn Cot imlygI? jy hW qW
ikauN? jy nhIN qW ikauN nhIN?

(iv) clMq AsYsmYNt ivau leI sRI mqI dIkSw
87 swl dI rYzIfYNt iek ifivauNnl dI

`5,00,000 Awmdn dy tYks AMko[

(v) Ms. Khusboo retired from a Private job on

31-10-2019 and after retirement she has

started receiving pension of `35,000 per

month. On 1st Feb., 2020, she gets 80% of

the pension commuted for `16,00,000.

Commute her tax, taxable pension for the

Current assessment year assuming that she

has not received any gratuity.

(vi) sRImwn X ny SBI qoN `15,00,000 dw 15%

dr qy 2015 ivc krzw mkwn pwaux leI

ilAw ijhVw 1 jnvrI, 2019 nU M mukMml

kIqw[ krjy dI vwpsI dI imqI 1 AkqUbr,

2019 sI[ AsYsmYNt swl 2020-21 leI auDwr

leI pUMjI qy ivAwj AMko, mMndy hoey ik auh

mkwn dw mwlk hY Aqy 2019-20 ivc Awp

rihMdw irhw hY[

(vii) ieMfYksf lwgq kI huMdI hY?

(viii) tYks mukq sikErtIz kI huMdIAW hn?

(ix) kYzUAl Awmdn kI huMdI hY?

(x) KyqIbwVI qoN Awmdn kI huMdI hY?

(xi) ieMsIfYNs AwP tYks qoN kI Bwv hY?

(xii) CotXukq Awmdn qoN kI Bwv hY?
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